1. Determine whether the transformation T(x,y,z)=(3x,y?) linear or not? Prove your answer in
detail. (109 )
: . . 5 1 ¢ :
2. Find the (a) inverse of matrix A= 9 2 ; (b) A" means the transpose of matrix A,

determine (2AY)™* (20%)

5 -2 2
3. Find the (a) eigenvalues and (b) eigenvectors of A=|4 -3 4|. (20%)
4 6 7
4. Solve y —eYcos(x)=0 : y(0)=0 (10%)
5. Solve y =2xy*; y(0)=1 (10%)
4 2
6. Solve inverse Laplace transform L™ S3+5++2 (109%)
s°(s“+1)

7. Solve Laplace transform L[t3—4t+5+35in2t] (109%)

8. Are the functions even, odd or neither? x €[-1, 1] (109 )
(1) x*cos(5x)
(2) xBx

(3) cos(x)+sin(x)

(4) x°



